EARAZROREIERT — 2 N—XBISY —F 2014578198 (£) 4MEIER4H

E=s22o0 L —x3%355MLUT ¥5%3M35AT [ewl & [(semem — 2 @ e s
[AE4£] 1% :19,000 ™ ~ 23#%:38,000” ~ 33%&:19,000 ™ . 43&:14,000 H 53 :5,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= . ; : fb 3 | WAEEEE 1:40.4 1-1 37.4| — 4 439 | fERE#ER] (KR)
11810 7 v F—-—d—JUR 54.0 (=) (-g) |WibEL
L:viNyBgLhTr BTV 4—-> TANAS
— S AlRE 140. = . - HZHEE (KR)
o 2| TNRTFIF > L (i 1/ R T [
R:27)—>e—0— B:v4&LTF oz TJ7=Z—klTr—L
N o EREA : - - 2fE— (KR
N A o | e pes | v [T - |8 | e (e d
Z:arFa4A4y b BixAxI—F 1 AXETa—Tr7—L
# 3 | THX 1:40.8 74 |36.8] — | 6 | 412 |BHZ OKR)
41717 OREAFA 54.0 (11/2) -2) (=) JP/NI}’ﬁEﬁ
RRFAT—I K BV TH EvdlLy RT7—L4
N o — FER 41, - . — HPRE— (KR
5/8l9| X TRNITT<Z "3 56.0 1(441)5 &7 5.6 2 g‘; g%*um 7
RFFHRFFLT B/ —TALF Ev¥Ly KTr—L
it 3 | AKIBE 1:41.7 8-8 37.6| — 3 446 | TEER (KiR)
EH gl TL—X ‘ 54.0 (1 1/4) (+14) | BHN
L:€r/n704 B:J4 7 )Ny J =Y Tr—L
403 | WABER 1:41.7 5-6 38.0| — 5 431 | #BEEE (&)
7155 JXEINT—=IL 56.0 (NF) -2) LA E S
Z:arrFaay b BivAxiv—F EvJdLy RT77—L4
= H 3 | SIEKE 1:42.8 9-9 38.5| — 10 | 423 | BWE— KR)
sl7lg|3xEF1~ 5.0 o (o |EEE—
R:aArFafy b BRAZAT4% AXEG2-T7—L
— =V 143 - . — 12 ARBE (KR
91111 Y hLF o 4 3 5'_'4./6 1(443)4 4-5 40.1 1 (4_132) S 7
R:x¥Y/ by THY B:FU-T5%y b &SRS
= o KIFIE 144, - . — BAAIER] (KiR)
o5 735y e RN 7 R e P [FmEEr
RV TFTIALR BT INA bR
® 1—F—@EBIERL
13—7-—
20—F—
Jol=5r= (4,10),2,1,5,9,7,6,8,3
40 —F— 10,4,2,7,1,5,9,6,8,3
[ N5
B 10 760 714K 2-10 1,650 B 2-8 1,570M JEE 2-4-10 62,750/
B B 10 3509 4-10 3,460 B = 2-10 7,880 JEE 10-2-4 156,070M
2 4704 2-4 3,080 B H 10-2 14,0108
4 700M

ABICOVWTRDTEEERROODE. TR LIV,



